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QUESTION 1

About a multi-node centralized network, which of the following statements are CORRECT? (Multiple Choice) 

A. All users have their services configured and controlled in a unified manner on the central node. 

B. In normal conditions, the local node does not accept registration requests from SIP users. 

C. POTS users on the local node register with the central node directly. 

D. On the central node, you can view the license information about the local node. 

Correct Answer: AB 

 

QUESTION 2

What function can not be used by an agent on the SoftConsole? 

A. Showing busy or idle 

B. Adjusting the sequence of incoming calls in a call queue 

C. Sending instant messages 

D. Transferring calls 

Correct Answer: C 

 

QUESTION 3

When adding users with non-UC rights on the BMU in batches, the user accounts fail to be added and the system
displays a message indicating that the number of mobile client users exceeds the maximum value specified in the
license. Which of the following methods can be used to solve the problem? 

A. Revoke the mobile client rights of common users. 

B. Add users with non-UC rights one by one. 

C. Ensure that local authentication is enabled on the BMU. 

Correct Answer: A 

 

QUESTION 4

An unknown communication error occurs in an enterprise, so UC services of all users are unavailable. In this case,
which of the following measures can be used? 

A. Recover services as soon as possible. 
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B. Locate the root cause of the fault. 

C. Collect the information required for locating a fault. 

Correct Answer: A 

 

QUESTION 5

The default port () is used for connecting the Meeting MS to the U1900 gateway. 

A. 5060 

B. 5061 

C. 5090 

D. 5092 

Correct Answer: D 
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